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Note ~ (i} Answers may be written either in English or in
Hindi;, but the same medium should be used

throughout the paper.

(ii) The maximum marks printed on the question paper
are applicable for the students of the NCWEB.
These marks will, however, be scaled down
proporiionately in respect of the students of
regular colleges (Cat. ‘'A’) at the time of posting

of awards for compilation of result.
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All guestions are compulsory.

Use separate answer sheets for Part A and B.
Al gquestions of each section should be attempted
together. Log tables and other statistical

tables shall be provided on demand.
Use of simple calculator is allowed.
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1. (a) The sum of absolute deviations of 10 items about
median is 5. Find the mean deviation. Also find
standard deviation and quartile deviation using
relationship among these.

{b) Arithmetic mean and median of 20 items are 15
and 17 respectively. Find new arithmetic mean
and median if two more values 16 and 20 are
included.

(c) Find the arithimetic mean and standard deviation
of 3 items when all have the equal value of 12.
How these values change if a new item 15 1s
included.
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(d) Under what conditions there will be perfect
correlation between two variables. What will be

its effect on two regression coefficients ? (4x2)
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2. (a) Given N =20, Z(X~10) =4, 2(X-10)* =220. Find
Arithmetic mean. standard deviation and coefficient

of variation,

(b) A person travelled at a speed of 50 km hr, 80 kmy
hr and 100 kmvhr, Find his average speed if he
travelled (i) For two hours. three hours and five
hours at the three speeds respectively (ii) For 200
km, 320 km and 600 km at the three speeds

respectively. (6+8)
P.T.O.
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OR

(a) Under what condiiions geomelric mean is not
defined. [f an employee has the offer of either
20% increment for next 2 years or 15% increment
in the first vear end 25% during the second year,

whicn offer is preferatie by emplovee and why ?

{b) Given N, =20 N. =130
Z(X-8)= 10 Z(Y-10)=-15
L(X-8)*=152 Z(Y-10)2=300
Find arithmetic mean and standard deviation of
each group and the combined arithmetic mean,

standard deviation and the overall coefficient of
variation. (6+8)
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3. (a) For a moderately skewed distribution, quartile
coefficient of skewness is -1/3. Find quartile
coefficient of dispersion if median = 56 and
Q, = 3Q,.

(b) For a bivariate data, two regression equations are
§X -10Y + 66 = 0 and
40X - 18Y -214=0
Find
(i) Arithmetic mean of both the variables.
(i1} Their correlation coefficient.
(iti) Estimated value of Y if X =35
(iv) Estimated value of X if Y = 4. (6+8)

OR
pP.T.O.
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(a) Explain symmetrical distribution and moderately
skewed distribution both positively and negatively.
Also give rough sketeh for each case with the

position of arithmetic mean, median and mode.

]

(b) Given N =10, IX = 200, Y = 225, £(X-10)?
1100, T(Y-15)2 = 1200 and 5(X-10)(Y-15)

850. Find correlation coefficient and both the

Il

regression equations. Also find estimated value of
Y if X = 20. (6+8)
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(@) fem mar 2 f& N =10. TX =200, IY = 225, T(X-10)?
= 1100. T(Y-15)* = 1200 3R T(X-10)(Y-15) = 850,
wEgay Ui R A v SRET B AR AT
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4. (a) Explain additive and the multiplicative model of

analyzing time series.

(b) For the following data, calculate consumer price
index by (i) Aggtegate expenditure method and
(1i) Family budget method.

1

Commodity A|B|C|D|E|F |G
Quantity (Q,) 2 12510 5[25 (401
Price (in 2008) | 75 13 |12 | 10 | 45|10 |25
| Price (in 2013) | 125 | 16 |16 [ 15| 5 |12 |40

(6+8)
OR

(a) State the time reversal and factor reversal test.
Under what conditions both are satisfied by

Laspeyre’s formula.

P.T.O.
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(b) Fit a linear trend equation to the following time
series —

Vear 006, 07 (o8 (s 10 11
25 |30 |28 [0 |42 45 |

Sales (in "000 rupees) |

Also nind the rend value for 10,5 (648
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